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Change of base | 5 Change of base formula:

log a
log, a= 5
' log b
&
Use the change of base formula to evaluate log 9 to 3
significant figures.
Answer
log,9 = log? Ch he I base 10
8. loga ange the log to base 10.
=1.58(3sf) Use calculator to evaluate
answer.

Nov 2-11:47 AM

log 3 =aandlog 6 =04
Find log, 6 in terms of @ and .

_log,6 Use the change of base formula.

|031r9 =l 031\')( - A

Express log QX in deems £ [N

M:M’
log 3 l6g4 2

Oct 29-2:02 PM
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4.7 Exponential and logarithmic equations

Solving exponential equations

Solve 5 =9

e

Solve 5" =9
Answer
5'=9
m log 9 Take logs of both sides.
xlog 5 =log 9 Now bring down the exponent.
_ log9 Rearrange the equation.
log5
x=1.3652...
x=1.37 (3 sf) Check whether the question requires
an exact answer

Nov 2-11:52 AM

Ina

Solve 6 = 3°*' giving your answer in the form b
n

where a and b are integers.

Answer
6 = 3!

@:m Take natural logs of both sides.
xIn6=(x+1)In3 Bring down the exponents.
xIn6=xIn3+In3 Multiply out brackets.

xIn6-xIn3=In3 Collect x-terms together.
x¥(In6-In3)=1In3 Factorize and divide.

X{(n a) WALAN

x—E )y'“

" In2

a
3 Ina—Inb=In—
E) b

Nov 2-11:59 AM
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Solve e¥ = 5!+, giving an exact answer.
Answer
o3 = §l-x Use natural logs since In e* = x
e = I
3x=(1-2x)In5 Bring down the exponents.
3x=In5—xIn5
3x+xIn5=1In5 Multiply out brackets.
x(3+In5)=1In5 Collect x-terms together.
__In5 Factorize and divide.
(3+1n5)
X= [n>
3
h&ems
X= l h S
In(5e)
X - 03 ly c&( \
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